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Mark the letier A, B, C. or D on your answer sheet to indicate the most suitable response o each of the
following sentences
‘Question 1: Mary:

‘ould you mind if I use your computer for an hour?” Tony:".

A.Not atall. I've finished my job B. Yes, you can use it
C. Of course not. I still need it now D. Yes. It's all right.

Question 2: Tom: "Do you think it's going to rain?” - Trump: *
A.ldon'thopeso  B.Idonthopeso  C.1hope not D. I think not

Mark the letter A, B. C, or D on your answer sheet 1o indicate the word(s) CLOSEST in meaning o the
underlined word(s) in each of the following

Question 3: An international medical conference initiated by Davison resulted in the birth of the League of Red
Cross Societies in 1991.

A. treated B. dedicated C. helped D. started
Question 4: He drove so fast that I really felt my life was in danger.
A. at the target B. in accident C.at stake D. in comfort

Mark the letter A, B, C, or D on your answer sheet o indicate the correct answer to each of the following
sentences

Question 5: My father is in of 30 engineers and 80 workers.
A. pressure B. Teadership C. impression D. charge
Question 6: taken my parents” advice, | wouldn't be a teacher now.
A.Had B.If Thadn’t C.IfIwouldhave  D.Could I have
Question 7: He is decorating his house selling it.
A.in order to B. with a view to ~in order that D. so that
Question 8: On he had won the first prize in the competition, he cried out with joy.
A being told B. having cold C. telling D. saying
Question 9: By the end of this March he here for 20 years
A.hasbeenliving B, will live C.will have been living . will be living
Question 10: The government is aiming. 50% reduction unemployment
A.at/of B.in/to C.on/ at D.at /in
Question 11: I am not going to study French and
A.soishe B. neither is he C. heisn’ttoo  D.eitherisn’t he
Question 12: Many young people in rural areas don't want to spend their lives on the farm like. parents.
A.weather-beaten B, up-to-date C. long-term D. wide-range
Question 13: I believe nobody survived the plane crash
A.did1 B. didn’t they C. did they D. did he
Question 14: they arrived they were fold to go back.
A.Nosooner/when  B. Scarcely had/when C. Scarcely/when D, Hardly/when
Question 15: Yuri Gagarin was the first person into space
A has traveled B. traveling ~traveled D. to travel
Question 16: To preserve that . it was necessary to preserve the people that had created it.
A. civilize B. civilization C. civility D. civil

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the
other three in pronunciation in each of the following questions

Question 17 A. kite B.bite C. favorite D. quite

Question 18:  A. coached. B. needed C. wanted D. beloved

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
word or phrase that best fits each of the numbered blanks

Schools in the United States have not always had a large number of libraries. As recently as 1958 about half of
the public schools in the United States had no libraries at all. The (19), of public school libraries increased
dramatically when the federal government passed the Elementary and Secondary Education Act of 1965, which
provided funds for school districts to improve their education programs and facilities, including their libraries.
(0) . many educators claim that since the legislation was passed federal spending has not increased
sufficiently to meet the rising cost of new library technologies such as computer databases and Interet access.
Because the federal government provides only limited funds to schools, individual school districts (21) on
funds from local property taxes to meet the vast majority of public schools tend to reflect the financial
capabilities of the communities in which they are located. Districts in wealthy suburbs often have fully staffed
libraries (2 abundant resources, spacious facilities, and curricular and instructional support. In (23)




[image: image2.jpg]school districts in many poor areas house their libraries in ordinary classrooms or in small rooms.
The Tibraries in such areas are generally staffed by volunteers, who organize and maintain books that are often
out-of-date, irrelevant, or damaged.

Question 19:  A. digit B. amount C. number D. numeral
Question20:  A.Otherwise  B.Therefore  C.Consequently D. Nevertheless
Question 21:  A.rely B. come C.go D. stay
Question 22 A. for B. with C.on D.by

Question 23:  A. conflict B. converse C. contrary D. contrast

Mark the letter A, B, C, or D on your answer answer sheet to indicate the underlined part that needs
correction in each of the questions
Question 24: By the time Robert will finish writing the first draft of his paper, most of the other students will
have completed their final draft

A.will finish B. writing C. most D. their
Question 25: The team leader demanded from his team members a serious attitude towards work, a good team
spirit, and that they work hard

A. team leader B. his team members

C. attitude towards work D. and that they work hard
Question 26: Each of the beautiful cars in the shop was quickly sold to their owner

A.Each B. cars C. quickly D. their
Read the following passage and mark the letter A, B, C, or D on your answer answer to each of the questions
An air pollutant is defined as a compound added directly or indirectly by humans to the atmosphere in such
quantities as to affect humans, animals, vegetation, or materials adversely. Air pollution requires a very flexible
definition that permits continuous change. When the first air pollution laws were established in England in the
fourteenth century, air pollutants were limited to compounds that could be seen or smelled — a far cry from the
extensive list of harmful substances known today. As technology has developed and knowledge of health aspects
of various chemicals has increased, the list of air pollutants has lengthened. In the future, even water vapor might
be considered an air pollutant under certain conditions. Many of more important air pollutants such as sulfur
oxides, carbon monoxide, and nitrogen oxides, are found in nature. As the Earth developed, the concentrations of
these pollutants were altered by various chemical reactions; they became components in biogeochemical cycle.
‘These serve as an air purification scheme by allowing the compounds to move from the air to the water or soil on
a global basis, nature’s output of these compounds dwarfs that resulting from human activities.
However, human production usually occurs in a localized area, such as a city. In this localized regions, human
output may be dominant and may temporarily overload the natural purification scheme of the cycle. The result is
an increased concentration of noxious chemicals in the air. The concentrations at which the adverse effects
appear will be greater than the concentrations that the pollutants would have in the absence of human activities.
‘The actual concentration need not be large for a substance to be a pollutant; in fact the numerical value tells us
little until we know how much of an increase this represents over the concentration that would oceur naturally in
the area. For example, sulfur dioxide has detectable health effects at 0.08 parts per million (ppm), which is about
400 times its natural level. Carbon monoxide, however, as a natural level of 0.1 ppm and is not usually a
pollutant until its level reaches about 15 ppm.

Question 27: What does the passage mainly
discuss?
A. The economic impact of air pollution

B. What constitutes an air pollutant
C. How much harm air pollutants can cause
D. The effects of compounds added to the atmosphere
Question 28: The word "adversely" is closest in
‘meaning to
A.negatively B. quickly
C. admittedly D. considerably
Question 29: It can be inferred from the first
paragraph that

A. water vapor is an air pollutant in localized areas

B. most air pollutants today can be seen or smelled
C. the definition of air pollution will continue to change
D. a substance becomes an air pollutant only in cities
Question 30: The word "these"in the second
paragraph is closest in meaning to
A. the various chemical reactions

B. the pollutants from the developing Earth
C. the compounds mover to the water or soil

D. the components in biogeochemical cycles
Question 31: For which of the following reasons
can natural pollutants play an important role in
controlling air pollution?

A. They function as part of a purification process.

B. They oceur in greater quantities than other pollutants.
C. They are less harmful to living beings than are other
pollutants.

D. They have existed since the Earth developed.
Question 32: The word "localized”is closest in

‘meaning to
A specified B. circled
C. surrounded D. encircled

Question 33: The word "detectable” in the third
paragraph is closest in meaning to

A beneficial B. special
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Question 34: Which of the following is best natural lands is to better enforce air pollution laws.
supported by the passage? C. Scientists should be consulted in order to establish
A. To effectively control pollution local government  uniform limits for all air pollutants.
should regularly review their air pollution laws. D. Human activities have been effective in reducing
air pollution.

Mark the letter A, B, C, or D on your answer sheet to indicate the semtence that best combines each pair of
sentences in the following questions
Question 35: People should not throw rubbish in the park. People should not cut down the trees in the park.

A. People should both cut down the trees and throw rubbish in the park

B. People should neither throw rubbish nor cut down the trees in the park.

C. People should throw rubbish and cut down the trees in the park.

D. People should either throw rubbish or cut down the trees in the park
Question 36: The team reached the top of the mountain. The team spent a night there.

A. The team had not only reached the top of the mountain, but they spend a night there as well.

B. Not only did the team reach the top of the mountain but they also spent a night there

C. Not only did the team reach the top of the mountain but they also spent a night there as well

D. The team both reach the top of the mountain but they also spent a night there
Read the following passage and mark the letter A,B,C or D on your answer sheet to indicate the correct
answer 10 each of the questions
Reading to oneself is a modern activity which was almost unknown to the scholars of the classical and medieval
worlds, while during the fifteenth century the term “reading” undoubtedly meant reading aloud. Only during the
nineteenth century did silent reading become commonplace.
One should be wary, however, of assuming that silent reading came about simply because reading aloud was a
distraction to others. Examinations of factors related to the historical development of silent reading have revealed
that it became the usual mode of reading for most adults mainly because the tasks themselves changed in
character.
The last century saw a steady gradual increase in literacy and thus in the number of readers. As the number of
readers increased, the number of potential listeners declined and thus there was some reduction in the need to
read aloud. As reading for the benefit of listeners grew less common, so came the flourishing of reading as a
private activity in such public places as libraries, railway carriages and offices, where reading aloud would cause
distraction to other readers. Towards the end of the century, there was still considerable argument over whether
books should be used for information or treated respectfully and over whether the reading of materials such as
newspapers was in some way mentally weakening. Indeed, this argument remains with us still in education.
However, whateverits virtues, the old shared literacy culture had gone and was replaced by the printed mass
‘media on the one hand and by books and periodicals for a specialised readership on the other.
By the end of the twentieth century, students were being recommended to adopt attitudes to books and to use
reading skills which were inappropriate, if not impossible, for the oral reader. The social, cultural and
technological changes in the century had greatly altered what the term “reading” implied.
Question 37: Reading aloud was more common in the medieval world because

A. people relied on reading for entertainment

B. silent reading had not been discovered

C. there were few places available for private reading

D. few people could read to themselves
Question 38: The word “commonplace” in the first paragraph mostly means *

A. for everybody’s use B. most preferable

C. attracting attention D. widely used
Question 39: The development of silent reading during the last century indicated.

A.an increase in the average age of readers  B. an increase in the number of books

C. a change in the nature of reading D. a change in the status of literate people
Question 40: Silent reading, especially in public places, flourished mainly because of

A. the decreasing need to read aloud B. the development of libraries

C. the increase in literacy D. the decreasing number of listeners

Question 41: The phrase “a specialized readership” in paragraph 4 mostly means
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Question 42: The phrase “oral reader” in the last paragraph mostly means “a person who

A.is good at public speaking B. takes part in an audition
C. practices reading to an audience D. is interested in spoken language
Question 43: All of the following might be the factors that affected the continuation of the old shared literacy
culture EXCEPT
A. the inappropriate reading skills B. the specialized readership
C. the diversity of reading materials D. the printed mass media

Mark the letter A,B,C or D on your answer sheet to indicate the sentence that is closest in meaning to the first
sentences of each of the following questions
Question dd: At the factory, he likes people to let him save his own way
A. At the factory, he doesn’t like it when people to let him what to do
B. At the factory, he often needs the help of other people in his work
C. At the factory, he doesn’t accept help from people he dislikes
D. At the factory, he likes people to think all good ideas are his own
Question 45: It would have been a perfect paper except for some mistakes
A. It was a perfect paper B. The word was spelt perfectly
C. The paper had some mistakes D. The teacher did not accept the paper
Question 46: It’s waste of time 10 try to explain anything to Tony.
A. Tony should be given explanation ~B. It’s not worthy trying to explain anything to Tony
C. To save time, explainit to Tony D, It's well worth trying to explain things to Tony
Mark the letter A,B,C or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the
underlined word(s) in each of the following questions
Question 47: Be quick! We must speed up if we don’t want to miss the flight””

A. put forward B. look up C. slow down D. tum down
Question 48: Although it's a long day for us, we feel we are contented with what we do
A. interested B. dissatisfied C. excited D. shocked

Mark the letter A,B,C or D on your answer sheet to indicate the word that differs from the other three in the
position of primary stress in each of the following questions

Question49: . realistic B. oceanic C.cconomy ~ D.biology
Question 50:  A.prediction  B.rehearsal  C. essential D. industry
Pap dn

1A [2B [3D 4B [5D [6A [7B [8A [9-C [10-D
1B [12A [13-C_|14B_[15D [16B [17-C_|18A [19-C [20-D
21-A [22-B |23-D |24-A [25-D [26D [27-C |28A [29-C [30-D
31-A [32-A [33C [34-D [35B [36B [37-D [38D |39-C |40-C
41-B [42-C_[43C [44-A [45C [46-B [47-C[48-B |49B |50-D

LOT GIAI CHI TIET
Question 1: Dip dn A
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[image: image5.jpg]Mary: ban c6 phién khong néu t6i ding may tinh cia
ban?

Tony:

A. khong hé. Téi lam xong viée roi

B. C6, ban ¢6 thé dimg n6

C. Di nhién I khong. To
D. C6, duge théi
Question 2: Dip din B
‘Tom: Ban c6 nghi troi sé mua khong?
Trump
A.1i khong hi vong viy
B. Toi khong hi vong viy
vong 1 khong

in dang cin ng

D. Téi nght 1 khong
Question 3: Dip n D
A, dbixit

B. cong hién

C. gitip dor

i u

D. bit
Ciu ny dich nhu sau: 1 hoi nghi y té thé giéi duge
khoi xuéng boi Davison da din dén sy hinh thinh
hoi chir thip do nam 1991

Question 4: Dip in B

A. 6 mye tiéu

B. tai nan

C. trong nguy hiém

D. thodi mi

w nay dich nhu sau: anh 4y ldi xe qud nhanh dén
ndi t3i thyc sy cam thiy mang sdng cia minh dang
trong tinh thé nguy hiém

Question 5: Dip in D

A.dp lye

B. lanh dao

C. in tugng

D. trich nhigm

um tir: tobe in charge of sb: chiu trich nhi

Cau niy nhur sau: bé 6i chiu trich nl véi
30 kg st va 80 cong nhi

Question 6: Dip dn A

Dio ciia ciu diéu kién két hop logi: 3+2:

Had+ S +PP+ ..., S + would+V.

Ciu ny dich 1i: néu ti da nghe theo 13i khuyén cia
bb me, bay gior toi da khong Ia 1 gido vién

Question 7: Dip iin B
A.in order to + V: &
B. with a view to +Ving : dé
C.in order that + clause: dé.
D. so that + V: dé mi

Céu nay dich 1a: Anh dy ding trang tri lai nha cira dé
bin n6

Question 8: Dip din A

Chu triic : On +Ving...., S+ V.
: 2 ménh dé cling chi ngx
 phai & dang ciu bi dong

Khi...

Céu nay a: Khi duge néi ring anh dy da dat
gidi nhdt, anh &y bt khoc trong niém vui

Question 9: Dip iin C

Tuong lai tiép dién dién td 1 hanh dong bit diu
trong qué khii, tiép didn dén 1 thoi diém xic dinh
trong tong lai: S + will + have + been + Ving,

Cau nay dich la: Truée cudi thing 3 nay, anh dy da &
day trong 20 nim

Question 10: Dip din D

Aim at st: 6 myc dich trong viée gi

Reduction in st: giam céi gi

Ciu ndy dich 1z Chinh ph dang nhim gidm 50% ti
1¢ thit nghié
Question 11: Dip in B

Céu dong tinh phu dinh : neither + trg V + S

Ciu ndy dich li: 10i sé khong hoc tiéng Phip vi anh
4y ciing vay

Question 12: Dip din A
A, weather-beaten

khong chiu dugc swong

C. long-term : dai han
D. wide-range: ring rai

Cau ndy dich li: Nhiéu nguoi tré viing nong thén
khéng muén dinh cugc song ctia ho & trén trang trai
nhur nhimg ngudi cha me khong chiuj duge swong
gi6 cliah

Question 13: Dip fin C

Cau hoi dudi véi nobody -> S 14 they va & dang
khiing dinh

Ciu niy dich la: Toi tin khong ai séng st sau vy tai
nan miy bay, phii khong?

Question 14: Dip iin B

Cu triic: Scarcely + trg V+S + V, when + S+ V.
Cau niy dich 12: Ho vira méi dén noi thi duoe yéu
céu quay lai

Question 15: Dip in D

thay thé cho dai tir quan hé : To V =who + V.

Cau ndy dich Ia: Yuri Gagarin I ngudi diu tién vio
vty

Question 16: Dip in B

A. khai héa

B. nén viin minh

C. phép lich su

D. Cong din

Ciu ndy dich Ia: dé bio tén nén van minh dy, didu
cin thét 1 bio vé nhimg ngudi da tao ra no
Question 17: Dip iin C

A fkar/

B. foatt/

C./ ferv(@)nt/

D. /kwant/

Question 18: Dip din A

A. sty

B. fmi:did/
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Question 19: Pip iin C
A digit: con
B_amount: 56 lugng
C. number: s6 lugng
D. numeral: thuje vé
> the number of + N : 6 lugng.
The (19)_of public school libraries increased
dramatically
> S6 lugng thu vién truimg hoc ting nhiéu
Question 20: Dip din D

A. Otherwise: néu khong

B. Therefore: do do

[The (19)_of public school libraries increased
dramatically when the federal government passed
the Elementary and Secondary Education Act of
1965, which provided funds for school districts to
improve their education programs and facilities,
including their libraries. (20) _, many educators
claim that since the legislation was passed federal
spending has not increased sufficiently to meet the
rising cost ]

> S6 lugng thu vién truong hoc tang nhiéu khi
chinh phit bang ban hanh lut hinh déng cho gido
duc tiéu hoc va trung hoc nim 1965, da cung cip
quy tién cho nhing truimg & quin dé cii cich
chuong trinh vi co s vit chit, bao gom ca thu vién.
Tuy nhién, nhiéu nhi gido dyc lai khing dinh ring
Ké tir khi lujt phip dugc ban hanh, ngdn khé bang da
Khong ting di dé dip (g cho vige ting gid ¢
Question 21: Dip dn A

A.rely + on; dua vio

B. come : dén

C.go:di

D.stay: &

[Because the federal government provides only
limited funds to schools, individual school districts
(21)_on funds from local property taxes]

Vi chinh phit bang chi cung cip quy
cho cic truémg hoc, nhimg truomg 1é & quin phii
dya vio quy tir ngudn thué tai san cua dia phuong
Question 22: Dip in B

A for : cho

B. with: ciing véi

C.on: trén

[Districts in wealthy suburbs often have fully staffed
libraries (22)___ abundant resources, spacious
facilities, and curricular and instructional support]

Nhimg quin ¢ ving ngoai 0 gidu c6 thuomg c6
nhimg thy vign nhiéu sich véi rat nhidu ngudn, co

56 vit chilt rong rdi, va ca sy h tro huong din hoe
tap

Question 23: Dip iin D

A. conflict : miu thudn

B. converse: ddi nguge

C: contrary: tri lai

D. contrast: tri Iy
[n (23) ool districts in many poor
areas house their libraries in ordinary classrooms or
in small rooms.]

Trii lai, truémg & quin trong nhiéu noi nghéo khd ¢6
nhimg th vién trong 16p hoc binh thuong hodc
trong nhimg phong nho

> Cym tir: In contrast,..:trdi lai

Question 24: Dip dn A

will finish — finishes

Cau niy dich nhu sau: Dén khi Robert hoan thinh
ban thao dau tién thi hiu hét nhimg hoc sinh khic da
hoin thinh bin thio cudi ciing cia minh

Question 25: Dip iin D

and that they work hard -> hard work

TruGe v sau tir ndi “and” phai ciing loai tir (& ddy
phii 12 ciing N)

Cau niy dich nhu sau: Neudi lanh dgo yéu cu ti
nhimg thanh vién 1 thi d§ nghiém tic trong cong
viée, 1 tinh thin t6t, va sy lim vige cham chi
Question 26: Dip in D
Their > ts

Chi ngi I each of > diing its

Cau niy dich nhu sau: mdi chiéc xe dep trong cira
higu ny da nhanh chéng duge bin hét cho nhing
ngudi chi ciia ching
Question 27: Dip iin C
Poan vin chii yéu ban
A. dnh huémg Ién kinh 6 nhiém khong khi

B. Cii gi hin thanh nhimg nhin t6 giy 6 nhiém
Khong khi

C. Nhimg yé
hai dén mirc ndo

D. Anh huéng cia nhimg hop chit vio khong khi
Question 28: Dip din A

Tir adversely gin nghia nhat véi tir:

A tidu cye

B. nhanh

C. thira nhin

D. ding ké

Question 29: Pip iin C

C6 thé suy ra tir doan 1 li:

A, hoi nue I 1 chit giy 0 nhiém & viin dia phuong
B. hiu hét chit giy 6 nhiém ngay nay c6 thé duge
nhin hofc ngii
C. dinh nghia chit giy 6 nhiém s tiép tuc thay doi
D. I chit tro thinh 1 chit gay 6 nhiém chi & nhimg
thanh phé

iy 6 nhiém khéng khi c6 thé gay
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Question 30: Dip én D

Tir these trong doan 2 gén nghia nhit véi:

A. nhimg sy phin tmg héa hoc khic nhau

B. Nhimg chit giy 6 nhiém tir trdi ddt dang phat
trién

C. nhimg hop chit chuyén tir dén nude hodc dt

D. nhimg thanh phin trong tuin hoan sinh dja

Din chimg: [they became components i
biogeochemical cycle. These serve as an air
purification scheme]

Question 31: Dip dn A

Vi v do nio dueci dy, nhimg chdt giy 6 nhiém tr
nhiém déng 1 vai tro quan trong trong viéc diéu
chinh 6 nhiém khéng khi?

A. Chiing c6 vai tr6 nhur 1 phin ciia qud trinh lim
sach i

B. Chiing xdy ra &6 heong lon hon nhimg chdt giy
6 nhiém khic

C. Chiing it gdy hai cho cugc song hon nhitng chdt
gdy 6 nhiém khic

D chiing da ton tai tir khi trdi dat phat trién

Dén ching: [the concentrations of these pollutants
were altered by various chemical reactions; they
became components in biogeochemical cycle. These
serve as an air purification scheme]

Question 32: Dip din A

Tir localized gin nghta nhit véi:

A.cuthé

B. vong tron

C. bao quanh

D. Viy quanh

Question 33: Dip din C

tir detectable trong doan 3 gin nghia nhdy véi:

A.c ich

B. djc bigt

C. ¢6 thé do dém duoc

D. ¢6 thé tich roi

Question 34: Dip din D

Ciu nio sau dy theo dogn vin 13 diing?

A di sodt hiéu qua 6 nhiém, chinh quyén dia
phuong nén thuimg xuyén nhin lai lugt 6 nhidm
Khong khi

B. 1 trong s6 nhimg buéc quan trong nhit cia viée
bio tén dit tu nhién I cing ¢ lujt & nhiém khong
Khi 13t hon

C. nhimg nha khoa hoc nén duoc tham khio dé thiét
nhimg gi6i han dong déu cho tit ca nhimg chit 6
nhiém khong khi

D. nhimg hoat ddng cia con ngudi da mang dén higu
qui trong viée giam 6 nhiém

Din chimg: [These serve as an air purification
scheme by allowing the compounds to move from the
air to the water or soil on a global basis, nature's

output of these compounds dwarfs that resulting
from human activities]

Question 35: Dip iin B

Moi ngudi khong nén vit ric ra cong vién. Moi
ngudi khong nén chit cdy trong cdng vién

A Moi ngudi nén chit cly vi viit ric ra cong vién.
B. moi ngudi khong nén virt ric va chit cay trong
cong vién.

C. Moi ngudi nén virt ric vi chit cdy trong cong
vién

D. Moi ngudi nén hofc vitt ric hode chit ciy trong
cong vién

Question 36: Dip iin B

Dai nhém da leo lén dén dinh ndi. i nhom dinh |
dém 6 d6 X

A. i nhém khong nhimg da 1én dén dinh ni. ma
ho con dinh | dém & d6 (sai thi & spend)

B. Khong nhimg doi nhom da lén dén dinh ni. ma
ho con danh 1 dém & 6

C. Khng nhimg dgi nhém da Ién dén dinh nii. ma
ho con danh 1 dém 6 dé(sai & as well )

D. Dgi nhom Ién dén dinh nii ma ho con dinh 1
dém & d6 (sai thi & reach)

Question 37: Dip dn D
Doc 1o trd nén pho bién hon thii Trung cd vi
A moi ngudi st dung vie doc nhur dé gidi tri

B. doc thim da khong duge khim phi ra
C. Chi 6 vii noi ¢6 thé cho phép doc cho ¢4 nhin
D. it nguri ¢4 thé doc cho chinh ho

Din chimg: Reading to oneself is a modern activity
which was almost unknown to the scholars of the
classical and medieval worlds, while during. the
fifteenth century the term “reading” undoubtedly
‘meant reading aloud.

Question 38: Dip 4n D

Tir commonplace (pho bién) trong doan 1 nghia la:
A. cho moi ngusi dimg

B. duge yéu thich hon

C. thu hiit su chii y

D. dge sie dung rong rii

Question 39: Dip iin C

Sur phat trién ciia viéc doc tham sudt cudi thé ki cho
thdy

A. sue tang trong & tudi trung binh ciia ngui doc

B. sue tang trong s6 heong sich

C. sir thay doi trong ban cht viée doc

D.su thay doi trong dia vi ciia ngucdi 6 hoc thike
Dan ching: Examinations of factors related to the
historical _ development of silent ~reading have
revealed that it became the usual mode of reading
for most adults mainly because the tasks themselves
changed in character.

Question 40: Dip iin C

Doc tham, déc bi¢t la trong trong nhitng noi cong
céng, lai phit trién chii yéu vi...
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B. sue pht trién ciia thie vién

C. su tang trong vide bit doc

D. 56 hegng giam ctia ngiedi nghe

Din chimg: The last century saw a steady gradual
increase in literacy and thus in the number of
readers. As the number of readers increased, the
number of potential listeners declined and thus there
was some reduction in the need to read aloud,
Question 41: Dip in B

Cum tic a specialized readership G doan 4 nghia la
A, mt yéu ciu cho ngudi doc c6 1 si hiéu biét i 1
finh viee cu thé

B. 1 con 56 c6 han nguii doc c6 hiéu biét & 1 linh
viee ey thé

C. I mite @ doc cho nhimg chuyén gia

D. I dia vi cho nhimg ngwsi doc dic biét trén
phuong tién truyén thing dai ching

Dén chimg: However, whatever its virtues, the old
shared literacy culture had gone and was replaced
by the printed mass media on the one hand and by
books and periodicals for a specialised readership
on the other.

Question 42: Dip iin C

Cum tir oral reader trong doan cudi nghia la I
ngudi m...

A. gidi néi trucée cing chiing

B. tham gia vio I cuge thir giong

C. thé hién viée doc trede khin gid

D._thich thii v6i ngon ngit ndi

Din chimg: By the end of the twentieth century,
students were being recommended to adopt attitudes
to books and to use reading skills which were
inappropriate, if not impossible, for the oral reader.
Question 43: Dip din C

Tit ca nhitng nhan 1 sau c6 thé anh hirong dén s
tia van héa doc viét cii ngoai tric:

A,k nang doc khing phit hop

B dic gid dic biét

D, phicong tién truyén thong dai chiing in dn
Din chimg: By the end of the twentieth century,
students were being recommended to adopt attirudes
1o books and to use reading skills which were
inappropriate, if not impossible, for the oral reader.
Question 44: Dip din A
& nha mdy, anh ay thich moi ngudi dé anh dy lam
theo cich ciia minh
A. & nhi mdy, anh 4y khong thich moi ngudi bio
anh dy lim cdi gi d6

. & nhi méy, anh dy thuimg cin sy gitp dd cia
nhing ngudi khc trong cong vide
C. & nh miy, anh dykhong chip nhn sy gidp d ti
nhimg ngudi anh dy khong thich

D..& anh 4y thich moi nguoi n
nhimg diéu t6t 1a cia anh dy

Question 45: Dip iin C

N6 da co thé I 1 16 gidy hodn hao ngoai trir 1 v 13i
sai

A.N6 1 1 & gidy hodn hio

B. Tir duge dinh vin ding

C. Tos gidy c6 vai 16i sai

D. Cé gido khéng chip nhin tir gidy

Question 46: Dip iin B

Thit phi pham thi gian khi ¢6 glng giai thich moi
diéu véi Tony

A. Tony nén duge gidi thic
B.diéu do la khong dnags dé giai thich moi diéu véi

ét kigm tho gian, gidi thich no cho Tony
. d6 rat ding dé giai thich cho Tony
Question 47: Dip din C

Speed up: nhanh Ién

A. put forward: dé
B. look up: fim ki
C. slow down : chim lgi
D. turn down: tir choi

inh

Question 48: Dip in B
Contented: thia man

A. interested : thich thii
B. dissatisfied: thit vong
C. excited: hio hing

D. shocked: soc
Question 49: Dip iin B

A, realistic //1ia'lisuk/
B. oceanic  / aofi'anik/
C. economy /1'konami/
D. biology /oar vladsi/
Question 50: Dip in D
A. prediction fpri'dikf(a)n/
B. rehearsal [n'has(a)l/
C. essential /t'senf(a)l/
D. industry /'mdostri/
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